
Loctite 243

STEP 1

Loctite 243

DR0753 
G700 Main gear hub

DR0754 
G700 Main gear

LX0752  GOBLIN 700 - ULTRA MAIN GEAR SET  - RED
LX0751  GOBLIN 700 - ULTRA MAIN GEAR SET - SILVER

6 x TBEM3X8 
      Bottom hex cup screw M3X8

Assembly note

Assembly finish
LYNX MANUAL DOC .REV .A 10-10-2013

SLNM4 

STEP 2

Assembly step 1

Loctite 243

lock tighten (fully lock)
Install main gear into goblin frame and main shaft,than install hex cup screw M4x25 and self lock nut, 

Self lock nut M4

TCEM4X25 
Hex cup screw M4X25 shouldered

HELI INNOVATIONS


